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. Part A -
Simply supported beam of length ‘L’ carries a point load ‘w’at the center of span 2213
find the slope at the supports and the maximum deflection in the span by [10+10]
b) Double integration Method. b) Conjugate beam method. '
A Cantilever Beam of length ‘L’ carries a UD load w throughout its length. [10+10] CIV412.1" [

Calculate slope and deflection at free end by using
b) Moment area method. b) Conjugate beam method.

A beam of 6m span is simply supported at the ends & is loaded with a point load [20] CIV4122 |5
of 6 kN at 2 meter from left support. UDL of 2kN/m for the second half of the

beam. Find Deflection at mid span, Maximum deflection and slope at left

support. Take E=200GPa, I= 20x10° mm®,
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Part B

qu the ﬁg shown below calculate slope at the support and maximum deflection ~ [10] 'CIV4122 .3
using conjugate beam method. |
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A
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A simply supported beam is subjected to a couple of 120 kNm at a point 4m [40) CIV4122 13

from the left support. Calculate the slopes at the ends and the deflection at the

point of application of load. EI is constant. *
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